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Reviewing what was
studied about fractions

L) From the school book

¢\
L 2 . Write the fraction that represents the coloured part according to the whole
o figure as in the example :

_Example

- .
Lc y ==
Tl -
=] B
% s 2%
VANWAN

g T — O ———— A — = ——
il
L S

Caaid fS1gh a1 s) *-ﬂ's-ﬂ
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Leccon @m

Colour according to the fraction as in the example :

_Example

N

A\

a

N

dh

R
e KSELE | o

b | RPIPKp

PAQA QA ¢
PAQA @A
i?ilfzi%

2
3
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Complete the following table :

What part(s) is
(are) blue ?

What part(s) is
(are) yellow ?

What parts
are pink ?

What parts are
pink or blue ?

What parts are
not blue ?

n Complete the following table as in the example :

Numerator

One fourth

Three eighths

Two ninths

w ] 5| adige e Alglli frad Yy asdal 155 ddgad pals Jaal m
V[ —mtadtt | [CEICHEBEED| | oM p e
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B Complete as in the following example :

_Example N

1 adlga le Al o ¥y padaldl g &l Ky jals Joall m
W[ alas | [Eehete | o™ gl

¢y
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1 . Complete as in the example :
) i Example
X 35 -5 =

5
Yy

I 1
r 8

r'-
) -

-

—

n Simplify each of the following fractions as in the example :

_Example

S gl}oul.r. CA[TAVEY FVR (P Evi (o [ JE=1K @}u ol ‘_lu.li h-\-ﬁ . M

St e ¥ ‘ [N BDED| | AMelDa ¥ a3 el
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Complete each of the following using (<, > or =) as in the example :
{Example

EN [
]

()

5
8
4
6
10
10
8
13

w|oo

Arrange each of the following in an ascending order as in the example :

_Example

. J—f _ The order is : tﬂl;—‘ Notice that :
. g
. ..g. , The order is

The order is :

o
olw

The orderis :

0

The order is :

L Nw ow

o
o

The order is :

oo|w E|°= N oo E|fﬂ
e,
N

4
-

The order is : -

4 ._'.f.'_f—:b-anie..'._ Jﬁnl gl}a Ao Ayl e ¥y paudad! 95l 33.;1 el Jeall h.\.ﬁ
W[ alas | [Eehete | o™ gl




f

o\ |
\ | _-.I |||r
1‘«

&y
!

9 Unit O

Place each of the following fractions in the suitable place :

7 9 1 3
amw’m’i‘—"

Complete as in the example :

_Example

7]

]

(r:e) r p f Pl £ Sl Sl ﬂlﬂl 17




P e

Sl L www:zakrooly com}

Fractions

EL} From the school hu?"'i

"lt a % is an improper fraction. ()

P

s b % is an improper fraction. ()

I c % is a proper fraction. ()
d % is a proper fraction. ()
e 5% is a mixed number. ()
f 235 is a mixed number. ()

State which is a proper fraction, an improper fraction or a mixed number in
each of the following :

S .. . I BRS ey ot RS | Srmmee T
e 6 b 5

L =3 SHE R g A e~ Rmadtha s s cakdn
< 7 58

Complete as in the example :

_Example

g T — O ———— A — = ——
- el
L S

A __lej).&.uu'g.n
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®)

I ™
T /

. u Complete as in the example :

Example

o BB
o

a EH8=T

el (¢ a9 le Algl ol s Yy el gl @3.;1 el ‘_luli m

PSS W ‘ [ 2 ) S B P v {FVIP (RS- P |
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B Complete as in the example :

|

a 65 -
9

87 _
ik

— v [omwaleden] [ Maths | [CTSHep@ES0] XS

Example

ﬂ Write each of the following as an improper fraction as in the example :
_Example

L
2

Write each of the following improper fractions as a mixed number in the
simplest form as in the example :

_Example
8 - o2
 — E

N

17

4
43
7

4 “._'.f.'_f—:b-anie..'._ ey gl}a Ao Ayl e ¥y paudad! 95l 33.;1 el Jeall h.\.ﬁ
W[ alas | [Eehete | o™ gl
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1

4 ._'.f.'_f—:b-anie..'._ ey gl}a Ao Ayl e ¥y paudad! 95l 33.;1 el Jeall h.\.ﬁ
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E Put the suitable relation (<,>or=):

a

T

Cc

E gl o ol K|w

- U

-y
Y

U N ofw Wi ;o

3
N
Bl
]
N
W=

| a0 ey e S

9 Unit O

| e {I'-. o

n Compare the following fractions :

~
n

¥

o

olo 9

3

.
c12:

48]

®
Rlon

N
0w jw

i
8

(e}
N

£,
9

Arrange each of the following in an ascending order :

3 2 7 Tahe "
a (O 5 and 15 The order is :

b ; % and The order is :
» 35 and The order is :

1 1 11 31 .
d » 15 5 11—2— and 54 The order is :

Arrange each of the following in a descending order :
and 1 The order is : -~

5 P
15 The order is :

F g

:,',.;,~ - _

|
I..-'H{.'m.._'.rr: C‘_‘}(J

s

&

\.l
..I"'_I
e ‘nr e

-

_u,z
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=

N 3 .1 9 i, g 2 cvenves
i'-f.._-:; C =% 30 and 2 The order is :

d 1-% ,1gy%and% The order is :

Pd Write each of the following in its suitable place on the number line :

21,%, - N 08

J

1
ﬂ1ﬁ&

,3%,2§

5
) L]

&

1

L3 Find the result of the following as a mixed number :

5,3, 4 34,2 ,:4
a 9g%v9 % b 3+8*s

c 2 + L d%+%+

1
11 3

8 413y _ 4
15 15 15 nY

f
"(5-§)*% g,

:11
<,

g = 1 5> gl}o Ao Ayl e ¥y paudad! 95l @34.1 el Jeall i
W[ alaw | [ Eehemers] | o gl
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L[] From the school book

._._I_n._..,___

._.I__.___....__

0

._I.___..hu

(op] [

..lﬁnﬂ__

._I_E

Q

< |0

™|~

o] [To!

Tol[e)

I~Joo

(W][s

| <t~
0 @

._.I_._....—.

<t
T

|00

|

oY [Ty)

|0

=

o o S e

M |t aun w|o

— o - N - M|
-
8 ® & 8@ 6 B &
o|N o|o
A O < o @ ole i
s
5 © 5 & 9 &
| -
o W o
olg I <2 g O W O
 —
5 S 5 5 ° ° &
o
o I~ <8 vg — = vl
SV S e S

. n oon oow g wom
-0 oM qn Mo o 1_@ 1_ﬂ
+ + +  + o+ _ |
¢ | aj~ v wo SHn O~

BMHM#
1331 el

=5 3Ty

0
“w

&

A

oy
T 3 I
94 )
i, 5

()
i
5l

3 ¥y addad! 19,500 a8gad 0

J:U
L]
. T 'l—'—f"‘.-'—l-—l-__--- T A

194 s Al
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+
=l

(=3
w
W N= W=

T = Qo

(ST o) S

N= alh o= &=
+ +
AN

+
o)

Find the resuitin the simplest form:
1 1
b3g-13

o
N
(S
I
N

W= o= s

+ 2 4

3 8 it
2273 2

1
3

33
4
63 4
4
(3

1
T+ lig)-

4 ._'.f.'_f—:b-anie..'._ ey gl}a Ao Ayl e ¥y paudad! 95l 33.;1 el Jeall h.\.ﬁ
W[ alas | [Eehete | o™ gl
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- i 00 3 y o = " 3
Y 8 g . - - a = - =
=" i B il . p - = = = o P -

' i — -
T | o i ' u . - 5 Y
: ! 3 - -
-, . '_-' i ¥ 5

»

F g

s

|
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One day ; a flock of birds flew 6 % hours. The next day » the birds
flew 8 % hours. How many hours did the birds fly during the two days 7

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

5 b | ook at the following table and answer the following questions :

1. How many more hours of sleep

are needed by a 1-year old child X Hours of Sleep
Age in Years
than by a 5-year old child ? Needed
.................................................... 1 131
3
2. How many more hours of sleep 5 10 L
are needed by a 35-year old adult 3 :
than by a 65-year old adult ? >
65 5 %

........................................................................................................................................

3. A 35-year old adult slept 5 hours in the morning and 4 2 5 hours at
night. How much more sleep is this than the amount naaded ?

----------------------------------------------------------------------------------------------------------------------------------------

€ (0 Ahmed has L.E. 10 bought a pen for L.E. 3 % and notebook for

L.E. 2 % Find the remainder with Ahmed.

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll
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Decimal numbers

L) From the school book

. Ifr

n Write each of the following using the decimal point as in the example :

rrrrrrrrrrrrrr

----------------------------

FAER A EER S E R AR EREEE SRR " g PSSR AEEEE RS

Convert each of the following decimal numbers to a proper fraction or
a mixed number as in the example :

Example
. =81 . =6
l 8.1 810 0.6 0 7
a g4 =i BDPELN AN D =i iaavass i C Q6.7 = v

d QO3 = rmsnenr 8. Q7 J =" $ 3457 = s

Convert each of the following into a decimal form as in the example :

_Example N
2 "o 1D 2.5 3% 35x2 355 =32

R Rp AR AR AR TR e AREEERAEETEERE e BEREEEEBREEEEEES

[..._.H._.p..-._."-a i e e .._...H.- ——
- -5

) S = BED| uhi-l-#' &3 el o

e, e e o
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% Unit O

n Write in digits each of the following numbers as in the example :

_Example
* Four and six tenths —= 4.6

« Eight hundred, fifty three and two tenths — 853.2

Seven tenths — oo

Five and eight tenths —— -

Eighteen and six tenths —

Seventy-six and three tenths —— -

Six hundred, thirty-five and nine tenths —— ---ooeeeee
Nine hundred, forty and one tenth —— -
Three hundred, one and five tenths —— -ovoeeeee

Two thousand, seven hundred, sixteen and eight tenths —— oo

(V0¥ s/ sl £/ oW olot yalsdl 41
-;\__'u

Igey rdige le byl e Wy pasdadl g Sl @}u %S ‘_lu.li h-\-ﬁ

S el ‘ | M'Jﬁ):*-‘* 2854 o I F ) ey | I etand
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Write in words each of the following numbers as in the example :

Example
[ 239.4 — Two hundred, thirty-nine and four tenths. j

v [oonalEEiem] [ Maths | [SEIep0dE=50] ¥

Ty e DS

B i the coloured figure L
represents the number 1 (one unit), write the number that represents the
coloured parts of each of the following figures as in the example :

m:'-l :’ll-‘: i!i*. : i:_ .' b
F='[ T ‘ | :

_Example

I":-_:.:;:-#E.-'_ S pBlga le dlgloli s Wy el g 5l gad ol Jaal h.w

ssmbastt | [N EBELD| | MG a3 el

¢y
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% Unit O

I-_*,._f_,_;_-_ﬂ,,ie_-'_ S pBlga le dlgloli s Wy el g 5l Hgad gl Jaall m

ssmbastt | [N EBELD| | MG a3 el
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— v [owaleEEn| [ Maths | [EElepbaiid=0] X

; ’ . If the figure | l represents the
y number 1 (one unit), colour the part of each of the following figures that
represents the given decimal number in each of the following as in the

example :

' ] (> adilge le d.lgl A fra g (adlall g o3 pgad ol Jaall m i
V[ —mtadtt | [CEICHEBEED| | oM p e
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.‘-.‘
.
L

it O
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o e

=3

i §
I ||I ! ¥
k j
B

&,

‘--._.
]
| ,‘T i e
v
v

4\

T h
> a

26
10

a Represent each of the following numbers on the number line :

a 21 ) ; : : | 1.4

i K | 3

2
c Sﬁ‘l

0

n Write the suitable number according to its place on the number line in each
of the following cases :

a

LS
L,-!" ;:I._
1 R %
A

b

i i i i -

[ ¥ L] L] é/l
. N
I
=
r-ll.ll .

g

L’

-

:\n

o 13 ﬁsl gl}o Ao Ayl e ¥y paudad! 95l @34.1 el Jeall h.\.ﬁ
W[ o oaa | (et | o sl s |
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gL
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1

|"'

1'..

B —

e

Complete as in the example :

Example
[ 249.8 = 8 tenths + 9 units + 4 tens + 2 hundreds j

a 7562 = tenths + i e QUNdreds
b 300.1= e tenth + - uni e UNAreds

C 57.3 = ceiviernnnns tenths + i e UNdreds

'i.

;' ST )31 g ole AlgloL fraw Wy adlaldl fg 50l Bgad ol Joal m
O [ —mtasr | [N EBERD] | DN gl el
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=

141 d 197 = o tenths + - units + -~ tens + -~ hundreds
\

€ i = 1 tenth + O units + 4 tens + 0 hundreds

Complete as in the example :

Example

32=3+0.2

Ll Complete as in the example :

Example
[ 0.3+07=1

g 0.4 +0.3+ o

Underline the tens digit and circle the tenths digit in each of the following
numbers as in the example :

Example

[ _552.@)

a 168.4 b 814.3 c 795
d £0 100.1 e (L 2060.9 f 054321

| fowet Jpl ﬁj‘}' Ao Ayl e ¥y paudad! 95l @}u el Jeall h.\.ﬁ
W[ o oaa | (et | o sl s |
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More about decimal numbers

£} From the school book

P n Write each of the following as a decimal number as in the example :

N _Example
il o B 2= BT | .2 —2__=2005
& 100 ~ > 1000 ~ <
R il - AR 25  _
2 8400 b =50 € 7000
188 o WEL S 1 [/ S
dzﬁmou' 38100 f631000
R S 207 5 004
9 3900 © h 300 ' 1000

Express each of the following decimal numbers by a fraction or a mixed

number as in the example :

Example
— 5 11 ) i 17
l * 5.11 = 5700 12.017 = 12 5550 7
a 16.72 = vveeeeee b (0 17.23 = eeee € 125,174 = cevvieeeeees
di (0185 = :isniani e (N6.09= - F EABOIT = oo a
g 0 28.001= e N 0.004 = oeveieieen i 1717 = oo . 3
5
u
Write each of the following decimal number as an improper fraction : LA
Example aﬁ '
. = 824 ; — 4005 g
l’ 3.24 700 4.005 = 3550 1 @ |
8 4,03 = e b 24512 = -«ooveiveee C 0507 = --ooeeeerense )
d 2001 = oeeees € 10.001 = —ooeeeememes F AT AT = covvsiiniiiee

] 3 e e o e g ol g 5005 gligus ol ol 1

" - | [anRE dny

AR AINEED| | T g el |
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n Convert each of the following into a decimal form as in the example :

Example
[ g .. 9%2 _ 18 - 0.18

"50 50x2 100

I

|

i

»2 x50 = 100 |
« 2 x 500 =1 000 i
«5x20=100 i
+ 5 x 200 = 1 000 i
* 4 x 25 =100 i
«4 x 250 =1 000 i
«25%x40= 1000 i
_ *8x125=1000 i

T ———————— —————— i —— —— —

J 2000

1002
K 3550 300

Write in digits each of the following numbers as in the example :

Example
[ One hundred , forty-seven and twenty five hundredths —— 147.25

a Six and two hundredths ——s - ~._,.-’l |
b Three hundred thousandths —s oo J

L ~

!

'.r' :“-.

‘4
T
Ll .

¢ Twenty two and thirty-five hundredths —— oo

1
S |
! I.".

5 &

'l:

T 3 ige ohe g o Wy sl 03 g el Jaall 114 };j
¥ | mbastt | [N EBED] | AMuDW g aalt |
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¥
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o »

e One hundred and forty-nine thousandths — oo

f Eleven thousandths —s oo

g Forty-four and four thousandths ——— oo

ﬂ Express in words each of the following numbers as in the example :

Example
[ 4.571 — Four and five hundred seventy one thousandths. W

PN 0 Jc 1o NS 1 S 0 S

ol Ao = | B ... . ... I

f 64.075 —» -

Write the suitable number inside each rectangle according to its place on
the number line :

a L3075 0.79 0.73 0.71

o O O =

— - — u—

middle

- 19.83 19.58 19.51

] 3

- TEE )3 e e gl e Yy adalll gyl g el Jaad m
W[ o oaa | (et | o sl s |
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o,

.‘I

N c 5378

1 .a

- 1i_

e 537

N =
¥

___: i E Write the suitable number inside each rectangle according to its place on
& the number line :

a [l

2315

Number Tens andths

234.706 3
416.139
629.041
70.287
906.57

B <3 e e Al e Wy pasdal g a3 pigad ol Jaal *M
W[ alaw | [ Eehemers] | o gl ot |
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Underline the units digit and circle the hundredths digit in each of the
following numbers as in the example :

Example

[

a 741.357 b 4503 C 62.35
d 0.241 e 23.034 f 0.104

g 604.16 h 0.004 I 220.13

m Write the value of the underlined digit in each of the following numbers as
in the example :

Number The value of the underlined digit

E} 761.284 o5

290.681

604.571

522.109

614.837

310.208

480.093

2035 Ayo,>) @icilo civall 8 Jo 35 (.3
&Y\ AW wial) MabY\ uc\y) e

R =] s )5 8134 e g1 T Yy ol o1y 501 e ol Jaal m ;
| otaer | [N BED] | MDY g8 el
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ra;w
/ -? | (1] Complete as in the example :
L’

_Example

([ 74531 |
| 74+0531 |

[ 74+05+003+0001 |

one ]] b Ezswag} j [[ ]]
] r[ | ]1 (103 +0.1 + 0.002}

1E1 Choose the correct answer :

a b 700 = (5.3 or 5.03 or 3.5 or 5.30)

b 3.017 =32 (46 © 706 ° Fo00 O T)
C The value of 5in 6.325 is -
d The place value of 5 in the number 12.358 ig -
(tenths or tens or hundreds or hundredths )
e Five hundred, fifty and five thousandths = -
(5.505 or 55.05 or 550.05 or 550.005 )
f Fifteen hundredths = - (150 or 0.015 or 0.15 or 1.5)

g 45tenths = oo (4.5 or 0.45 or 450 or 4.05)

1 am an improper fraction, when you convert me into a decimal number,
my whole part is 2, my decimal part consists of 3 digits. The hundredths digit
is 6, the thousandths digit is 4 and the sum of my all digits is 15, find me.

(AP Y s /) st £/ oW oloy, yalsdl - 57

w 5 gy 1890 e byl o Wy el L,Jbéla @}u pals Jeall m
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Sl | www zakroolycom|

ey g, e

Comparing two decimal numbers
and ordering a set of decimal numbers

1] From the school book

] n Complete with suitable whole numbers as in the example :

Example
| 25 < 25.147 < 26 )

------------------------------------------

------------------------------------------

--------------------------------------------------------

----------------------------

Mention 4 numbers between each of the following :

a 0.7and 0.8 b 17 and 18

¢ 12.1and 12.2 d 400.23 and 400.24

e 149 and 15 f 0.09 and 0.1

LY Which of the numbers inside the opposite rectangle lies :

a between 17 and 18 7 «-oooees

i e

b between 34 and 34.57 - " .{:34_2““;.
C between 33 and 35 7 --oeeeee

.ff-- !
d between 17 and 17.5 2 - 17.019)

e between 17 and 17.1 7 -ooeeevees

f between 34 and 34.1 2 oo

g T — O ———— A — = ——
- = 1

' .j Af), w-'jué-*ﬁ 1-5'9-“
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n Put the suitable relation (<,>or=):

——s

06 03

035 05
0435 0.534
0.41 _ 10.389
0920 J1.02
(31314 3.2
23.605 ' 23.65

7 1ok

15.428| 115.43

s 2}1- [ J2.23
1)

u 12 . 1.05
7

w 3L . 137.25

y 3tenths. 30

b

d

0.05 ' 0.09

096  0.69
0.04 _0.40
(156 560
11 0.999

906 95

74 _l7.09
(284 1284
100 99.999
w17l 13
33 1357
8+0.2+0.06 /8260

54 tenths (154 hundredths

L2 Which is greater :

a 16.30r6.637

C 3.240r3.427

5.07o0or6?

29.150r29.5 7

ﬂ L Which is smaller :
a 350r3.057

C 270r2397

14.7 or 9.47 ?

0.76 or 0.9 ?

| A=) e e ¢ 0 xh]

et ¢ rdige le byl e Wy pasdadl g Sl @3*.1 palks ‘_lu.li m |
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5. | iy

{ J Arrange the following numbers in an ascending order :

a 7.5,7.30and 7.25

The order is & -

0.45 .0.70 and 0.42

The order is : -~

£1 5.8 ,5.08 , 58 and 8.5

The order is :

75.12 ,75.2 ,75.102 and 75.24

i 157 5, 152.3 ,152.13 and 157.1
The order is : - ATFERES. P (e

£ 0.3 ,0.003 ,0.033 and 0.32
The order is : -

98.76 , 7.395 ,210.8 , 83.624 , 300.1 and 82

The order is .

6-1- ,6.2 ,6.3 and 6.35

The order is :

i i ___
55 5 ° 0.4 and 0.06

The order is :

j 3.08, 3% , 3 tenths and 3%

The order is :
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B Arrange the following numbers in a descending order :

a 558.,55,585and5.7

The order is :

0.804 ,0.84 ,0.85 and 0.084

The order is :

5.63 55 136 , 500.36 and 5.063
00

The Grder IS | aesminniiesns gt g s

1 1

5 0.05 >y and 0.025

The order is :

el‘ﬁ- ,6.0125 ,6.15 and 6.152

The Drder iE T B

1 1
13 s 1-1—0 » 13 tenths and 1.5

The order is ; - S BT p—

E) (2 use the numbers : 1.3, 3.2, 10.04, 312, 3.215 and 1.12 to complete the
following :

a The numbers that are greater than 3 are e
b The numbers that are smaller than 3 are
The smallest number is e
The greatest number is
The numbers that are included between 1 and 3 are
The numbers that are included between 2 and 4 are
The numbers that are included between 3.15 and 3.25 are -

The order of the numbers in an ascending order is -

'i.

;' ST )31 lge ole AlgloL fraw Wy adlaldl fg 50l Bgad ol Joal m
O [ —mtasr | [N EBERD] | DN gl el
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.fgx

1

f"'

1' J

Unit O
m LL) Underline the equal humbers in each of the following groups :

a 18.04 ,18.40 , 18.040, 18.44 and 1.840

b 0.10,10.1 ,0.01 ,0.001 and 0.1
¢ 5.73,5.703 ,5.730 ,5.073 , 5.073 and 50.73
d 9.07 ,9.7 ,9.700 , 9.007 and 90.07

2 Write the following numbers in their suitable places on the number line,

-," JERRE] 51 190 Lo dlg)oi s Yy (radlal 19,03 g ol s m .

then arrange them ascendingly :
a 55,6.3,6.7,52and5.9

5
The order is :

b 398,3.82,3.95,3.87 and 3.85

i o
L ]

3.8

The order is : -

c 3175 , 16.15 , 17.25 and 16.6

e

16

The order is :

L1 Write suitable numbers inside the rectangles, then arrange them

descendingly :
]

—

e N i il - - . P " a
- -z J L5 - . ¥ - s . :
! o — R - ” ' 5 - - = - '- e
} ] ' - 13
! > .
¥ N Py . - -
-

B
F.—iﬂ'.. : - -

86.1
The order is : «eeeees

-

e g

& _
Y S

(AP Y 5/ plaad £/ S Slsly, yalsdl 65

.-r..-:-/ﬂ,/
| o

.

¥ | mtaett | [ EBERD] | AMum gl el



Test on the first part of unit one

(from lesson 1to lesson 6)

f [n Choose the correct answer from the given ones :

X
;_ 1 Five and seven tenths = -+ eoeon (7.5 or 57 or 057 or 0.75) _{4
2 The place value of the digit 5 in the number 9.56 ig - &
(units or tens or tenths or hundredths)
i
3 %-—- (4-1— or -ﬂfg or 43 or 42)
4 0.017 is less than -+ (0.009 or 0.014 or 0.012 or 0.051)
1 =
6 648=6+ -+ 0.08 (4 or 0.4 or 0.04 or 40) 75
15
7 S=—— (3 or 20 or 21 or 25) N
8 D O .. o 29 (:::- or = or -r.:) }E‘
/2
9 0.7+ e =1 (0.3 or 0.4 or 0.6 or 0.5) *I{
o 10 The decimal between 0.4 and 0.43 ig -~ X
‘Q (0.49 or 0.59 or 0.23 or 0.42) | ¥

Lﬂ Complete each of the following :

F e
"""@

u._. . 11 The value of the digit 6 in the number 18.36 is oo 'm :
5 12 ?% =Ry (in decimal form) ‘=‘-;:;
2 3 {
oY 13 §+§ e ‘#L’lgﬁtj‘!‘éan Q
3 6 — D
‘ ( 15 The number 2.9 in letters is -+ J_l'gi ‘
B 16 28" (nthe simplest orm) vlocllg | A3

i K

‘dto ¥




Unit One
O
2 Answer the following
17 Arrange the following numbers in a descending order :
58 , 508 , 58 and 8.5

The Drder Is * eiasssssasan g rressssssaaias g  rreereessiasaes and ...............
18 Write four decimal numbers included between 17 and 18

ThE numbers are : TR R e e w O RERERARLR i .- IR s s L and ...............

20 Bassem bought a pen for L.E. 3% and a ruler for L.E. 1 1?
How much money did he pay ?

J915 Ag,>) @ioile a3 Jo,35 39\
SHa2Y\ AW\ caal) N\abY\ cicy) em

The ﬂrder IS P iee e e g rreereesiaaaes g  rememeeeeaeenes and ...............

[ gt ]

-¢my
N
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Onlesson () unit (1) |-

&) [a] Write the fraction that represents the shaded part
according to the whole figure :
M TN @ Wi (3) ..

...........................

nnnnnnnnnnnnnnnnnnnnnnnnnnn

(1) m (2) (3)

¥ 3 3
3 5 4
&) Complete :
[a] The fraction Z its numerator is - and its denominator
e [b] Six sevenths = =~ [c]1=>= [d]7 =5
= [e] The fraction whose numerator is greater than its denominator is called -
- €D Choose the correct answer :
5‘* : [a] The shaded parts represent -
~ | h 2 1
of the figure. l (5 or §or 4 )
- S— 20 10 35
[b] 3 (30 o 18 ° 22)
10 - ... 2 2 4
[c] 45 = ( s or § or g )
[d] % % (> or = or <)
[e] The denominator of the fraction -37-; IS weeeenes (3 or 7 or 10)
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i l'l‘—."

% @ Find the result :
.:‘I. .........

5 o SEERD
,_‘f(' [a] 9 + Q - e
A\ - DT B U
j‘ ' [C] E + one quar{er = kT
._H' 1".._ 4 i a i o
s [61(= + af )—55 55
&= & Put (v') for the correct statement and (x) for the incorrect one :
B [a] The numerator of the fraction % is 7 and its denominator
T is 4 (
5 2 3
b1 3+5=3 (
[c] Three fifths = 2 (
[d] The shaded part represents the fraction % 6) (
=8
[e] 1 - T:- = (

m’ﬁum lesson (1) unit (1) to lesson (2) unit (1) | -

&) Complete with “a proper fraction > an improper fraction or
a mixed number” :

[a] % {5 rtio [h] .,g_ IS maaeladin
[c] 2:} S - [d] % (G eeerenss
g .
[e] 1 30 18
€ [a] Write each of the following as an improper fraction
)2+ == ()53 ===
(3) 1% == (4) 9 o=

(2) 18 = i 22
25 o PEERSNRM

----------
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s
q | €) Put the suitable relation (<) s(=)or(>):
4 L 1 E: M
("3 CEIEE
e [a2 2 @24 2
P “l5 10 8 5
1 25
a [e] 3 8 g
B2 O choose the correct answer :
p! v, [a] 19 quarters = - (13g or 191 or 43)
= [b] 2L = e (5 thirds or 6 thirds or 7 thirds)
18 _aswemeans
[G]H_—4 (2 or 3 or 4)
2 _ temsssens
[dlﬁ"—ag (22 or 20 or 2)
[e] In the improper fraction , the numerator is - the denominator.

( greater than or lessthan or equalto)

€ Wwrite each of the following in its suitable place on the
number line :

%:11%12%1-?31%3“'51%
0 O 000
a ..... . ——; — S o T ——s '

[ Sheet H ( From lesson (1) unit (1) to lesson (3) ;nit (1)

S 1 Cnmpfete the following :

> [a] goks mn [h] 1 1 -
2 3 5
1 ST
[e] ETE

€3 Complete the following :
[al 3§ = —— (improper fraction)
[b] % =~ (in the simplest form)

L,
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iy g, | e T

2
% [e]1- & = [d] 2+ 2 =
2 14 ds
] ;‘ €) Choose the correct answer
v 142 = 11 2 3
8 [al 7 + 3 (47 or i3 or 12 =
S mied- G or or g
= 3 B > or <
[c] 3 5 (
1
o [d] 55 = (L or 1 or 21
4 1 _ v 4 S
el 5 - 55 (36 3 o7 2
&) Arrange each of the following in an ascendfng order :
[a]:3 ,3 ,gandl [h] 175 and 9
15 1 11 31
[ﬂ] g 1 6’ 1= 12 and 54
& Find the following :
[a] 55 +3% [b] 41 +5%
16413 UERERS

. 25 .
(using a decimal point)
4 (in words)
> [c] Nine and four tenths — - (in digits}
[d] % IS -ooveeenns fraction. (complete with : a proper or an improper)
[e] % = S (in a decimal form)
€3 Complete each of the following :
[a] 389.5 = -+ hundreds + ----- tens + oo units + .- tenths
[b] 7.2 = -t 0.2 [€]0.1+0.4 + -=1
... (@as a mixed number) [e] 85.4 = .- (in a fractional form)

=] < e le "-‘5‘-‘-‘-‘&4*“ Ys ge-da-d* 1S @s«u > du!* m
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P =S M P Lt sy

% €) Choose the correct answer between brackets :
5 10 o7 .5 10

L‘f( [a]?= .......... (ﬁ. or -3 or —
g Y [b] Six hundreds , twenty four and three tenths = -
L® (246.3 or 624.3 or 264.3)
S [c] 0.4 + 0.4 + oo = 1 (2 or 0.1 or 02)
& [d] -~ = 2 hundreds + 5 units + 7 tenths
1S (250.7 or 25.7 or 205.7)
[e] If 15 = -: s then X s (2 or 3 or 9)
‘& @ Put (v') for the correct statement and (x) for the incorrect one :
[a] Two fifths = 2 ( )
[b] 0.3 + 0.6 =0.9 ( )
[c] Two hundreds and four tenths = 20.4 ( )
[d] 6.3 = 3 units + 6 tenths ( )
3 [e]365=31 ()
‘“ € [a] Find the result :
(1) __% Lt
(2) (3% +1 ) 15 =

[b] Represent each nf the following numbers on the number line :
04 , 1.3 and 2.8

-

3 - : ——— :
e - = ‘Mark
f. ( S heet @ / From lesson (1) unit (1) to lesson (5) unit (1) | -
| _ 25 |
&) Write :

[a]l 3 5 100 ---------- (as a decimal number) |

[b] 7.03 = -------- (as a mixed number)

[c] 47.47 = - (as an improper fraction)

[d] 21 i = ... (in @ decimal form)

[e] Twenty two and thirty-five hundredths ——- - (in digits)

(Y # )Y o/ sl £/ (Worksheets & Final Examinations) o sl )ﬂlﬂ:" o i
Jplyi}nul.cdljh.i.u&m}@ ge.da.di UJ,)K_—.lagg.uuabMi m a3
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ey g, e

% &) Complete :

45 7 [a] 315.728 = hundreds + - ten +

“-g T tenths+ -.-oovee hundredths +

L' [b] 25.961 = «-evons +5+ e +0.06 + -

S [c] The value of the digit 3 in the number 614.837 is -
&z [d] 2.09 oo, (in words)

Lf_"'jl- [€] 0.5 + -oinens = whole one

€) Choose the correct answer :
[a] The value of the digit 6 in the number 6.254 is -

6
(6 or 55 or Bhundredths)

[b] The place value of the digit 7 in the number 604.571 is -
(tens or tenths or hundredths)

[c] 5 - 100 ---------- (5.3 or 5.03 or 55)

14
4] 5000 ~

[e]? 2 (> or = or <)

.......... (0.007 or 0.07 or 0.014)

O [a] Write the suitable number inside each rectangle
according to its place on the number line :

2 Y Y

19.52 19.53

[b] Underline the units digit and circle the tenths digit in each :
(1) 3.104 (2) 64.305

€ Find the missing digits :
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3 ( MFrnm lesson (1) unit (1) to lesson (6) unit (1) |-
_\\ - = 25 J

L ' & Complete :

a [a] 39.471 =39 + e i iz + 0.001
&= [b] 6.541 < oo < 6.543
¥ [c] 9.06 - 9.5 (using:<,=or>)

[d] 25.25 = - (as an |mprnper fraction)

[E] .......... =5

ﬂ | &) FPut the suitable relation (<) > (=) ?,- (>) :

*‘:; - [al1 0.999 e

0 [b] 7% 7.5
, [c] 50.1 ]49.99

d,

[d] 4 hundreds and 4 tenths 30.04

[e] The value of the digit 3 in the number 0.324 The value of the
digit 5 in the number 0.025

€) Choose the correct answer :
[a] 45 tenths = ... (45 or 045 or 450)

| [b] 0.92 > - oo (192 or 0.9 or 0.95)
.:" ) [c] 0.3 + 0.03 = v (3.3 or 0.033 or 0.33) m:i,{
a4 [d] 5% - 5.125 (< or = or >) '
gL [€]23.9=0.9+ 3 + .oooe (2 or 20 or 200) ﬂ‘

&) [a] Arrange the following numbers in an ascending order : | )
J 4.8 ,8.4 ,4.08 and 4.85 - S
- t THE OFAEE IS  iceerveersrmsssssmmsivussimmivnimmimmrnnnssiariassiossisssisssitesisisaranraisssnssnesessnsaneses 't._. w
[b] Rearrange the following numbers descendingly : pl
0.804 ,0.84 ,0.85 and 0.084 ‘
TRE OTUEE (S 1 -ccicveriiniiniimiiimmuiiiinisiiiinsiiassasiassssssasasiasssssssssssssssssinssnssstsssensnusens a
o &
ki gplgly‘,l.cd.!gt_\.u@m}rg,a.da.diujj)él:g}u@bwim e
3 - --:IFL.._I.‘_L__;_-_ t. ..:
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Revision on what was studied
before about fractions

~
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Maths

% b Complete the following table as the example:

| |

\ -J@ 1 2 - half
L& :
& @ 1 3
N
& (b) % three quarters
(©) 5 two fifths
3
@ S =
\ A A AN A J

A

f2 R

-'M
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Q
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1

Sy

v

o A \ .' =T — e b
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Q
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W / A

B Complete each of the following using (<, > or =) as the example:

@%

3

)

mlm m[m mlh
a

J 4 Q4

=i
6
4
8
iiis
9

e

) Write an equivalent fraction for each of the following as the example:

)

B
9
2

)1[]

o

Complete each of the following as the example:

2

3
5

o)

i

-..- . w
T (
|
|
' g =

o|la ofo

Il




~|-

Q)(% + —2—)—

I

Il

Il

llllllllllllllll

arrange them ascendingly and descendingly:

e and—

S22 12

KD Write the fractions in their suitable place on the number line, then ‘Q

A

{Eat] gl ale Joe Sl !

5‘:..-;'1



27— =

(2x4)+1 _

4
—
o

m|a -h-|—1- r.n|-l- ullm

e & o
E B E

b) & 4=
1

d)EEHo?
1

f)IIIat-ﬁ

h)ms%

Write each of the following mixed numbers into an improper fraction
(as the example):

(=

<«— whole

< —numerator (remainder)

N

iiiii

lllll

b) [ ==




Maths

d)m— ...

6 )

9
h) 2 T 2—

p Compare between each of the two fractions:

2

s
a) 7

\Q = (b el d) et o2,

b)) =, =

o

9 * 10 | 51 T

o) 35 7 5w

A

@

3.3 3 ek
@1+ .17 hy2— 2 —




Maths

( a)ﬂj%,i,i

% b Arrange in ascending order:
7

3 15

.
! W o =
. N L

TRE OraER e 3 e Teh) s e i B0 il AU ISR L

35 |
b)mT!?l_l_

NS IOIIer 18 - . ae i Ml s iy Lo et oo e T e S T = ot

2 /g 5 1
DS et s '

S
\Q Thearderis: ... SRl I ik
3% 5 T

3
d)m3’2’1T’

a0

I -:. i Iﬂ

G'JI{'J'I

b

‘o TN ONOr 1S, . o i i o e e e s
1 3 4

' o Bt AL

9 B Wi TA N D e, R Ve e EEERGR  S
d
[‘ I Arrange in descending order:
‘-1.;

3 2 Fi
a)lll 7. 5 . 33

=B

76 Te s g oo ph (ot N S LI Rt ) T e

1 2 5 1
bl =, 5 . § 7T

T

s (528)

A8 Tl s, v | o (o ST TN A TINN: 10 SRl NI A, Ceaeos Mo o -t o0 Lo et At

2 1 9
gnsss & LEG

|l =e ol e e N ) D P == LY MO, )y e

3 1 7 1
d)m4r5 :_:--_é"

T A \
& @

LS
F—

J Tl |t A S S s BNEp s Lkl St [P S DS g AT b L

@

® a0

L]
6

o
b .'
Wheo A/

rr

e

| TR YTy @t}a (e tUjh.Ll.i @m 5'5 Ua.da.d! ulﬁ,é.u 094 pals- Ju]i Ky Q‘




b Write each of the following numbers in its suitable place on the

number line:
¢
3 1 4 5
B sl g ieag s g
~ WS A g s s
ﬁ.

]
A
oe
il
N @
we
oy
T
mq.
Y

2 47
-

1 1 9 1 9

0) 4270 * ° Tpihaior i

- *—————t—t—t—t——e + e — i
3 4 5 6
1 1 9 3 7 1

14525 w1527 2

= » == —t——t——+—— 2
0 1 2 3

" FOR EXCELLENT PUPILS

T —— Y T "

E) Write each of the following numbers in its suitable place on the * ] 3
/)

—

o T % Al e @i

given number line: ' m“

b 2 1 i 38 | A

2k s o5p - &5

- * N )

2 3 @w

¢ "
r &
gl I";:‘ L ‘
a\., : ‘
&Sz <

-..- . w
T (
|

|
.

ulg)éu @}4—1 palks JuJi h-\-ib
3| | AT gl et |

iy

Ie=Dd Ak



Adding and subtractig fractions |& ¥
that have different denominators je=esi]

Choose the correct answer from that between the brackets:

3)"%""—";3_: : (%ﬂr% ar% nr%)
w b) 1 —% - : (% Dr% nr% nr%)
\Q C)%_% a : (jl"ﬂr—g—— ur% nr%)
.J, d)%"'%= : (%nr% or 1nr%)
5 “ [ Find in the simplest form:
s 2 )@ g -
RS ok ok
(| o 7-3% N4 +2—
’ 9)55 + 2 h) 35 + 15
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| .\%"

4 B Find in the simplest form:

3
+7)_T b)(1— +

d)(3 + ) +

1 1
f)(9 T— 5"6")'1'1-*5"

2 1 32 .

N (@24 F-.

............

------------

S

\,J
—if?

'!.
o

g s S| adlge Tl tU 3!4.1.1 Tt ¥4 ‘,a.da.d | 95 @5.4.1 pals d-‘-’-" 1% \:\;. :
AR A B BED b
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LIFE PROBLEMS

Nancy had seven pounds and a half. She gave her brother

two pounds and a quarter.
How much money was left with Nancy?

D The weights of 3 boxes of fruits are 3 — , 5—and 4 — kg.
e s 4
Find the total weight of these boxes.

B A man bought 1 kg of apple for
12 pnunds and 1 kg of orange ® .

for 6 ? pounds. N

How much money did he pay?

[1JAhmed has L.E.10. He bought a pen for
LE. 3 % and a notebook for L.E. 2 %

Find the remainder with Ahmed.
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ercise

(o3 Decimal numbers
usmve EX.

1. Shade the part that represents the shown number as the example:

Example: 2.5 | [T[ il

a)l7
b) 2.6
c) 0.8
dll4g
e)fnz7
f)20.9
g)Ed13 |

2. Convert each of the following into a decimal form:

8) = = B) L

98

125
= =t D

e)

i) 9— j) 95 -2

100 00

185

m) 911 —— 1000

n) 97 —— 1000 ... 2000

3. Complete each of the following to convert into a decimal form as the example:

mp 5
32 23  23x8 _ 184

= = = = =0.184
800 800+8 * 125 125x8 1000 024

77
70
19

I3Ix2
Hx2

46 + 2

b)

d)

- \'Lf_
- felamth] o adlge e 31..\.:.1 @uu ¥y ‘,uh.d i u.lbéla @}u ol J-“-" h.hb X
¢ Gem || Errrrr=ap
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-

c) 6.3 =——

5124 =

h) £317.23 i) (3 6.09 j) (2 5.017
k) 16.125 1) 18.18 m) 10.12 n) 8.217
0) (11 28.001 p) 213.002 q) 100.007 r) 5.027

S. Write in digits each of the following numbers:
a) Four tenths. b) Eight and one tenth.
¢) Twenty five and three tenths. d) One hundred sixteen and six tenths.

e) Five and seven tenths. f) Fourteen and two tenths.
g) Thirty seven and fifty hundredths ..........cc.cccoounn..c... iz

h) Five hundred and twenty four hundredths ....................... .

i) Six and fifty seven thousandths ..o,

J) Twenty nine thousandths

k) Four hundred thirty two and seven hundredths

\:;
e [ @l e 4 31..\.:.1 @uu ¥ ‘,uh.d i u.lbéla @}u sals J-u-" h.hb x_l
O Gem | | [ g i |
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6. Write in words each of the following numbers:
a)0.7 b) 14.2 c) 350.9 d) 2083.1 e) 3.58

f) 0.35 g) 0.568 h) 1.001 1) 64.075

7. Complete the fullnwing table as the example:

.

i Number | Hundreds Tens _ Umts ant Tenths Hundr'edfhs Thamndfhs
! !
| Example: 671.235 6

723.056
121.721

8. Complete as the example:

Example: 5275 =5 + 0.2 + 0.07 + 0.005

a) 6.8

b) &3
c)
d) 12.097

70 +5+0.2 +0.07 + 0.006
900 +50+2+0.3+0.05

] )5 g e g o Yy bl o el sl m :
] ( ' T 31 et |
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9. Underline the tens digit, and circle the tenths digit in each of the following _”'
numbers as the example:

Example: 5242 279 ; 456 .2

a) 21327 ! 327.2 : 1020.8
b) 18.73 i 30.95 715
c) 2 467.8 : 54321 ; 100.1 2060.9

s——tan

10. Underline the hundreds digit and circle the hundredths digit as the example:
Example: 982.3(2)7 a) 129.785 b) 195.273
c) 175.198 d) 695.786 e) 318.08

11. Underline the units digit and circle the hundredths digit as the example:
Example: 72.53)6 a) 74.138 b) 675.261

c) 7.203 d) 175.62 e) 18.07

12. (2 Find the value of the digit (4) in each of the following numbers as the example:
Example: 4503 ( 4 ) a)4237 (.....) b)1146 (.....)

c) 27.034 fivams) d) 0.104

13. Find the place value of the digit (3) in each of the following numbers as the example:
Example: 23521 (Units) a) 701.235 ( b) 34920 (

c) 90.003 d) 325.784 (.........) e) 2.3 oo

14. Complete each of the following as the example:

Example: 05=050=0500, 0800=080=0.8
a)0.2=...

o« m\( .' i
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¥ 15, Complete each of the following as the example:

65.347 a)
Example: 65 + 0.347
65 + 0.3 + 0.04 + 0.007

195.678

127 + 0.7 + 0.05 + 0.008 197 + 0.5 + 0.009

16. Complete each of the following as the example:

Example: 5126 = 6 thousandths + 2 hundredths + 1 tenth + 5 units

a) 27.39 =......... hundredths + ........ tenths + ... units +
b) 804567 = ...... thousandths + ...... hundredths + ... fenths + ... units + .,
c) 1003.058 = thousandths + ...... hundredths + units + ...... thousands

4 | AT RN = 4 tenths + 1 hundredth + 9 thousandths + 8 tens + 2 hundreds

17. Write the following numbers in their suitable places on the number line:

a) 3.145 , 3.149 , 3.141 and 3.147

L . .~ .

3.14 3.15 |
ér

.
— :
A
-
.
-
*-.,."'
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‘I
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-
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©Of b)m2523, 2537 , 2529 and 2531
) C )
—1 3
2.53

C) 4763 , 4756 , 4753 , 4759 and 4.765

19. Represent the following numbers in their suitable places on the number line:
a)rl21,03,07, 26 and 14

] 5> dlga e o o Yy sl g, ey ol sl 12
| | LTy 3,31
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20. From the opposite figure. Choose the number

that represents the coloured part:

2N Critical thinking
21. Match the fractions to their equivalent decimals.

@® Use a ruler to draw a line that matches the fraction with the letter of its
decimal form. The number tells you where to write your letter in the code
boxes to find the secret word.

1 019 M

,
S|

o~

2 015 I

N|HJ

\

o] o]

0.06

0.5

g
o

£
10

i
T

/bl 8

oo
o

I

-
-

| |
2 8 9 10 1

-z

r IEIEI‘ _ :_,1:_- ‘-cud_a _- -,,n-J secret word | ,Jlulf ‘

R | & @ e 4 3!..\.:.1 @uu ¥ ‘,uh.d i u.lbéla @}u Ugb. J-“-" h.hb «.m *
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— S xercise
7 EiEE Comparing two decimal numbers and ordering

¢ 3 solve Ex. a set of decimal numbers
- @ 1. complete with two suitable whole numbers, as the example:

Example: 12 <« 12,15 < 13

2. Write three decimal numbers between:
a) 0.1 and 0.2 b) 17 and 18
c)57.1 and 57.2 d) 49.04 and 49.05

e) 56.01 and 56 f) 0.08 and 0.09

3. 3 Which is greater?
a) 16.3 or 6.63 b) 5.07 or 6
c) 3.24 or 342 d) 29.15 or 29.5

4. (3 Which is smaller?
a) 3.5 or 3.05 b) 14.7 or 9.47
c) 27 or 239 d) 0.76 or 0.9

5. Put the suitable sign (<, = or > ):
a)b37 -—- 496 ; : c) 0.98
d)8og - 8.1 e)l284 - 2.84 f) £23.14

g9)156 - 560 h@Lo92 — 102 i) 7

: - \f;
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: 3 3
) o@7s 1 K 15— . 150
) 225 - 3.250 m)8+02+003 —— 832

n) 45 tenths - 450 hundredths o0) 8 — 8 +0.1+0,02+0.004

p) 30 tenths -~ 3 tens qQ 2— +35 —— 64 tenths

6. (2 Which of the opposite numbers lies ..... ?
a) between 17 and 182 ..,
b) between 34 and 34.5?
C) between 33 and 35? 17.019 34
d) between 17 and 17.52 .o, 17.7
e) between 17 and 17.12 .
f) between 34 and 34.17 ..o

34.2
17.03

/. 1 Using the following numbers, complete:
(1.3 , 3.2 , 10.04 , 3.12 , 3.215 and 1.12)
a) The numbers greater than 3 are ............. o oo e .
b) The numbers smaller than 3 are ............. = e S
C) The numbers betweenland 3 are ............. ,
d) The numbers between2and 4 are .............
e) The numbers between 3.15and 3.25are ............... Wy A
f) The smallest number is .................... and the greatest number is .................... .
g) The ascending order of numbers is: .......... ) vevervenees g sevenesvens g sessssesnre p asesesssers QN reirienn.

8. Arrange the following numbers:
a) 158 , 508 , 58 and 8.5 (Ascendingly)
b) £l134.12 , 342 , 34102 and 31.24 (Ascendingly)
c) E4157 , 152.3 , 152.13 and 157.1 (Ascendingly)
d)709 ,97 ,b6915 , 719 and 97 (Descendingly)
e) 56.38 , 56.29 , 56.382 , 56.291 and 56.293 (Descendingly)
f)171 , 7.3 , 107.9 , 0.079 and 1.079 (Descendingly)

- — =

) S B 1.5_9.4

__ \ aﬂnﬁ;ﬂlywd—ﬂ |
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9. Arrange the following numbers:

, 555 and 055 (Ascendingly)

% and 0.09 (Descendingly)

, 10.56 and 101—3 {Descendingly)

, 1.2 , 0.75 and — (Ascendingly)

10. @ Underline the equal numbers in each of the following groups:
a)18.04 , 18.40 , 18.040 , 1844 , 1840
b)0.10 , 10.1 , 0.01 , 0.001 , 0.1
¢)573 , 5703 , 5730 , 5.072 , 5.073 , 50.73
d) 9.07 , 9.7 , 9.700 , 9.007 , 90.07

11. Write the following decimal numbers in their suitable places on the number line
and then arrange them:

a3 78, 73 , 91 and 8.7

s NHARRU AY A

7 8 10

(Ascendingly)

b) 136 , 133 , 142 , 147 , 128 and 139

L JC L ][:T_]

14 15

(Descendingly)

- TEE] ) g e g o Yy bl o el sl m :
¢ [ ' NuTM 8 91 st |




24 Ewww zakrooly’com||

e e e e e o e P o

c)65 ,73 ,78, 63 and 6.9

(Ascendingly)

12. (3 Write the suitable numbers inside the rectangles, then arrange them
descendingly:

oo EESEN

86.3

The order is: (descendingly)

13. Choose the correct answer in each of the following:

a) The number which lies between13.1 | b) The number which lies between 0.08
and 13.2 iS ....ccoorvreveennene . andOdis

®133 . @007
® 1301 . €009
®13.15 . 002

®13.23 . e018

R
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Find the result of the following:

b

-----

Complete each of the following:

- "in the simplest form"

lllllll

IED Put the suitable sign (<, =or>):

) Arrange the following in ascending order:

3

5

2

&3

1

, 1 and —

S
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Worksheets & Unit Tests :

% m Till Lesson (1B) - Unit (1)

*g - Complete each of the following:
e
] 4 16
a 5 = T
.‘,'.' ‘o
= b) 3-? = —— "as an improper fraction”
" ) -?% = — "in its simplest form"
%1— —"as a mixed number”

"as an improper fraction"  b) 3 % = — "as an improper fraction” ‘Q

"as an improper fraction” d) % = ... — "as a mixed number”

Sd Ce
U

= ... —— "as a mixed number"

A Arrange the following in descending order:

I|| s
"
T2 4
x — | S B
| a) 15 .5 75 and ¢
‘ : ThE DI'dEI" EE: TRRAERERREESEEG g ESRESRERAEEIIET g BerEarRaIFEEEEs and SR e S
1 2 1 )

2 The Ordar I8 i nnuis i BV wvwisaii

.
@
., I Put the suitable sign (<, = or>):
. - 17
% a) 8 S e 2
d ( b ¥ =
(w2 : K
3 1 y
" c) o e 53
{ 2 1
N d < & o
C
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Till Lesson (1C) - Unit (1)

,.s

"-.

Choose the correct answer:

a) 2 ; = (-%-ur-:—nrﬁnr-ﬁ- :
'b)g i = (-}ur; nr;ur1) <
c) ig = - "in the simplest form” (% or '1% nr% or _) \
dlﬁé = (5o ‘;,uannr__) ‘flﬂ}‘
™
+ Find the result of each of the following: ‘Q
™ 3 2
b2+ - = =
)62 +3+ = @a
“," d)32>-15 =

\Q - a) Find the result of the following (7 =1 %} +2 %

)

¥
& X‘

S

Ill
"‘h_"'*- -

£

o b) If Amir has L.E. 50 and Eman has L.E. 35 -;— , find the difference between
what they have.

L1 vy ‘1_‘
'xﬂ S

p) g ¢) Ali had L.E 20, he bought a pen for L.E 6 —- and a book for L.E 12 - .
N Find the remainder with Ali.
o
a W
&

GEM / MATH / Primary 4
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A8 Worksheets & Unit Tests _ =

% Worksheet ¢ Till Lesson (2) - Unit (1)
15

‘-- - Complete each of the following: % '
Le —
S
& = b) 3 l = s "as an improper fraction”

c) Q4+ 2 > B s A

\ d) Forty six thousandths = "in digits"

Q e) The place value of 7 in 2.375 is -

™
a7
'{O a) Complete each of the following:
° 1) 0.7 +0.09 + 0.001 + 197 = rvcivcnmniincsscnnen

2) The place value of 8 in 2.865 I8 «..cimiinnnivninns

/” b) Find the value of the digit 7 in each of the following:
~,
1) 5.007 2) 3.752
‘Q 3) 9.071 4) 572.03
@ Arrange the following numbers descendingly:
gL 6 ——, 6 —=—, 6 ——and 5 —

% THE OrAOY IS! « sccveraieess 5 sreomenessnsnr 2 snesmrrasranses ST sssrsrssansens
Y7

JoSN5 g3 @inile il @ Jo3ts (.3t
S>\aeY\ d\ﬂ\ al)l AabY\ doly) en
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Maths

% w Till Lesson (3) - Unit (1) TR

267 or 267 o 267

r8 orZor,

3
(3 3 3
(0.5 0r 0,05 or 0.005 or 0.0005)

—— OF gtherwise) Q‘

( 10 100 1000

4y
(0.30r0.120r0.020r0.03) 1 -

7
é x(\ D Choose the correct answer:
L®
foy 1
a NI a) 2 ? — QPR
= S -
&= b)5z =
e c) 26.70 =
‘Q d)0.1 < < 0.2
p 3
':, 03—+ 15 =
' B (a) Complete each of the following:
9‘ 1) 7 —g— = e (N d@GIMal form)
F"ﬁ
f 2)0.19 = hundredths

\Q 3) The value of 9 in 0.79 Is .
(b) Complete with whole numbers such that the difference between

S them is as small as possible.
” P
0 1Y s SBTNNR, v - SO . - & ISP oo
#'L
Put the suitable sign (., = or 5): |
7 a)5.81 ... 5.75 b) 41.6 14.9

! a(. ¢)9.07 % 9.1 d) 0.43 0.034

P

L 913 e 1o 130 ... 3 tenths

a N

&

Ie=Dd Ak

_"._ | e
W ¥
1
§
|




b) The value of the digit 3 in the number 59.34 is ........c........ (3 or 30 or 0.3 or 0.03)
975 39 975

C) 9.75 = i ('1_0' or —— or 10 or otherwise)
d) 0.15 < s < 0,16 (0.65 or 0.55 or 0.015 or 0.153)
@) 50 hundredths ................. 5§ tenths. (<or=or>or%)
!_O Complete each of the following:
w T — "in the decimal form"
9‘ b) 7.08 S roreemmaessnennenn —
> €) 10 =57 = errermrreons :
fj v d) The value of the digit (7) in the number 2.17 is ..cccoerere.
2 ) e 4 2035 = 50
|
Find the result of each of the following:
®  a)12.15 + 79.532 b)617.8 — 113.567
f.f"ﬁ c)25.3 + 1746 + 5.26 d) 75350 + 1000

e) 835 <+ 10 8657 + 100

7
d g D Peter has P.T. 475 and his friend Ali has L.E. 3.5. How many pounds do they
P

! PG have together?

GEM/MATH/Primary4 (7] (
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